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108 REEER S B4 (HE) 12 3 9 1.71
108 REBBEER A EEHI(HE) 3 1 2 18.75
108 BNRESRRET £ B4 (HE) 3 0 3 0.60
108 RIS & EEHI(HE) 1 1 0 4.55
108 iTERET % B4 (HE) 3 0 3 0.80
108 BIEEm&T £ il (=]5)) 4 1 3 0.94
108 EHSNE S E4(HE) 2 0 2 100.00
108 MBEmMAR B1H(HME) 2 1 1 0.38
108 B ERA REII(HE) 2 2 0 9.09
108 TEEEA il (=]5)) 4 4 0 0.96
108 TEEEAR REII(HME) 1 1 0 12.50
108 REKER E1H(HME) 1 0 1 0.42
108 EiEER B4 (HE) 1 1 0 0.24
108 EilEHR R B1H(HME) 1 1 0 100.00
109 REEER S B4 (HE) 5 2 3 0.74
109 REBBEER A EEII(HE) 4 2 2 18.18
109 HNRESRRET £ B4 (HE) 2 0 2 0.35
109 RIS & EEII(HE) 2 1 1 741
109 MiTERET % B4 (HE) 2 0 2 0.49
109 BIEEm&T £ B1+H(HME) 3 1 2 0.68
109 EHSNE S B4 (HE) 2 0 2 100.00
109 UGS EEHI(HE) 3 2 1 18.75
109 TEEESR B4 (HE) 2 2 0 0.47
109 REKER B1+H(HME) 1 0 1 0.33
109 EiEER B4 (HRE) 1 1 0 0.26
109 EilBHR & B1+(HME) 1 1 0 100.00
110 REEER S B4 (HE) 5 2 3 0.72
110 REGEERTRIELN EEII(HE) 2 1 1 11.11
110 Y B RN e R HI(HE) 1 0 1 4.55
110 BEMARELIHN EEII(HE) 1 1 0 6.67
110 EiEER B4 (HE) 1 1 0 0.28
110 Bl B R B EEHI(HE) 1 1 0 3.57




